Subject: reads/readf into structures with explicit format
Posted by penteado on Tue, 24 Jan 2012 23:59:50 GMT

View Forum Message <> Reply to Message

| was trying to parse a text file into an array of structures, using
an explicit format, and found that to make it work as | expected, |
had to encapsulate the whole format in extra parentheses:

[520]> lines=['a 0 9','b 1 3]

[521]> s=replicate({a:-',b:-1,c:-1},2)

[522]> reads,lines,s,format="(A1,2(1X,11))’

% READS: End of input data encountered: LINES
% Execution halted at: SMAIN$

[523]> print,s

{a 0 9K 0 0 -1}

[524]> reads,lines,s,format="((A1,2(1X,11)))’
[525]> print,s

{a 0 9K b 1 3}

A corresponding difference happens using print with explicit format.

| was not aware that the extra parentheses would make a difference. Is
this how it is supposed to work, or is this a bug?

Page 1 of 1 ---- Generated from conp. |l ang. i dl - pvwave archive


http://idlcoyote.com/comp.lang.idl-pvwave/index.php?t=usrinfo&id=2
http://idlcoyote.com/comp.lang.idl-pvwave/index.php?t=rview&th=33501&goto=79021#msg_79021
http://idlcoyote.com/comp.lang.idl-pvwave/index.php?t=post&reply_to=79021
http://idlcoyote.com/comp.lang.idl-pvwave/index.php

